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STATE- CORPORATION COMMI|SSION iy
CONSERYATION DIYISION = PLUGGING SECTION NH_NW_NW SEC 9 T . 29 s, p 15 Q
200 COLORADO DERBY BUILDING SR ’ —’ "
WICHITA, KANSAS 67202 4950 feet from S section |lne
TECHNICIAN'S PLUGGING REPORT ' 4950 tfeet from £ section llne
Operator Llcense # -~ 5046 - Leasa Name DTY2NL Nell # 3¢C
Operator: Ravmond 0il Company, Inc. County Pratt lsréuaa
named P.0. Box 48788 -
Address -0, Box Well Total Depth 4800 feat
Wichita, KS 67201 condUCfor P|p°= Slze fogt

Surface Caslng: Slze 8 5/8 feot 355
Abandoned Ol Well X Gas ¥el| input Wel | SWD Wel | D&A
Other well as heralnafter indicated
Plugging Contractor Kelsc Casing Pulling, Inc. License Number 6050
Address [-0. Box 347, Chase, KS 67524
- - e~ [Ruepl i T e R i ¥, £ e mpp” wr e - N PO
Company to plug at: Hour: 3 p.m. Day: 16 Month: 10 Yaar:19 92

Plugglng proposal recolved from _ ‘fonty Andrews

(company name) Kelso Casing Pulling. Inc, {phone) 316-938-2943
5%" at 4797' w/175 sx cement, PBID 4770', Perfs at 4463-68"

vero:
1st plug sand back to 44107 and dump 5 sx cement on top of sand through bailer,

2nd plug pump 3 sx hulls, 10 sx gel, 50 sx cement, 10 sx gel, 1 sx hulls, release 8 5/8" wiper

plug and pump 125 sx cement,

Plugglng Proposal Recelveéd by Steve Pfeifer
: (TECHNICIAN)
Plugélng Operatlons attended by Agent?: All v Part None
Cperations Completed: Hour: 4 p.m. Day: 16 Month: 10 Year:1992 .

ACTUAL PLUGGING REPORT lst plug sanded back to 4410' and dumped 5 sx cement on top of sand

bridge through.baiier,

2nd plug pumped down 8 5/8" surface pipe with 300 1bs. hulls, 10 sx gel, 50 sx cement, 10 sx

<gel 100 1bg. hulls  released 8 5/8" yiper plug and pumped 125 sx cement.

Maximum pressure 500 psi and shut in 300 psi.

Remarks: Used 60/40 Pozmix 6% gel by United Cementing. Recovered 2500' of 5%" casing.

{1t additlonal descriptlion Is necessary, use BACK of this form.)

! hN;V QKL\Q(EOQQH'G thls pluggling. '

DATE __/_67_’.252;-& _ Signed
2002
NV, H&. FORM CP-2/3
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